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Levers Stations Lab
Below, label all of the parts of the lever.







Types of Levers


The fulcrum is between the effort and the load. This is a:







lever.


The load is between the effort and the fulcrum.       This is a:







lever.



The effort is between the load and the fulcrum. This is a:






lever.

Laboratory Assignment

You have a lever (meter stick), a fulcrum, and load mass (200 grams) placed at 20 cm from the fulcrum. 
For each station, measure the distance from the fulcrum to the labeled effort point, and record it. 

Use the mass to put effort on the lever until the load is lifted and the lever balances. In the table below, record your data.

Load Distance from Fulcrum: 



Load Force: 



	
	Effort Distance from Fulcrum (centimeters)
	Effort Needed 

(Newtons)

	Station A
	
	

	Station B
	
	

	Station C
	
	

	Station D
	
	

	Station E
	
	

	Station F


	
	

	Station G


	
	


1. As the length from the fulcrum gets larger, what happens to the effort needed to balance the lever?

2. Does the effort that you put on the lever have to be at least equal to the weight of the load to lift the load?

3. When does the effort have to be greater than the weight of the load to lift up the load?

4. When can the effort be less than the weight of the load to lift up the load?

5. Calculate the mechanical advantage of the lever at the following stations. Explain how you determined the amount of mechanical advantage.

	Station
	Mechanical Advantage
	Explanation

	A


	
	

	C


	
	

	F


	
	


6. What do you think it would mean to have a mechanical advantage of ½?

7. You (150 lbs) and a large adult (225 lbs) want to “balance” on a see-saw.  Would it be possible for you and the adult to keep the see-saw parallel to the ground? If so, draw on the picture approximately where you and the adult would have to sit.  If not, explain why.

8. Do you think Archimedes could lift the Earth if he had a long enough lever? Why or why not?
Summary Questions

Complete the following statements:
9. As the distance between the effort and the fulcrum is increased, the amount of effort 

needed to lift something 



.

10. The load distance multiplied by the load mass equals 




















.
